= A
N = 0] &F AF S & AN A
20228 = 20l A LBHS|H MBS AP A
2N Aol AIE A
M MaT - A4 B
Sl AT el (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ATt S A A 20,615,843 23,236,801 £2,620,958
= 4,956,000
= 15,659,843
AT Al 22| 662,649 955,895 N 293,246
AT 22 662,649 955,895 A 293,246
lsats% Jf - B 500,000 405,500 94,500
401 Al HI L £ 0HHI 500,000 405,500 94,500
01 Al& B 498,500 404,000 94,500
OAAEEETAAE HES ALY 300,000
OARE2LETAA Kot HESH
4,000,000& = 5JH A&~ 20,000
OARAPLETANAE HAEQAD B4
4,000,000 * 12004 48,000
OAR2LETAAE HAHNAHAEX S=H 2
A X 4,500,000 * 29JH 2~ 130,500
03 Al 201 Y| 1,500 1,500 0
OARAZLETAAE HES ALY
300,000,000& * 0.5% 1,500
lsatsE =222 162,649 150,395 12,254
201 Yere Al 155,649 143,395 12,254
01 AFR 2t 2| H| 87,729 75,395 12,334
Ogbte=2H| 87,729
— OIS LEHBAH(ES) =222 (590 &
2) 326,400 * 11804 * 13| 38,516
— OIS+ LE2BA(ES) =222 (1301 &
2) 56,500 *« 1184 = 33l 20,001
—DISALET FEAAN(R2AsE) =22 (118H
A 43]) 10,600 = 11804 * 43| 5,004
— IS+ LEHBA(EE-HBE)=2(6
N =2) 30,700 *« 2400 A * 23] 1,474
— IS4+ EBAH(EE-XotE)=2=2 (1
1Hs =) 75,800 * 94004 * 13 7,126
—0IS&4+s FEAFA(Re-H=E)2=22(9
=) 217,000 * 2404 & =13 5,208
—0ISaxSE AT AHKIGHSE) Ct=2AF &=
=2 50,000 * 94004 * 23] 9,400
—0IS&dxE =& MBA =242 1,000
02 232 4| 67,920 68,000 A 80
OAA2EETAAE Hi=X EA
20,000,000& * 23] 40,000
OALARBEEAE EH DI 10,000,000& = 23| 20,000
OALAZLTAE F2EH &I L SARS
660,0008 ~ 12€ 7,920
206 T 24 7,000 7,000 0




AN dot=SAFE A
M MaG - AL e
chelr axE e (el &™)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 M= 4l 7,000 7,000 0
Oolts&=& A=24E 2 7008 = 10,0004 7,000
ot=& 22l 7,295,681 7,152,381 143,300
=2 4,956,000
[ia 2,339,681
ot=Z 2t 538,614 370,000 168,614
St (AE): X2 538,614 370,000 168,614
401 A& HIZ 201 I 538,614 370,000 168,614
01 A& HI 538,614 370,000 168,614
Odts=S FAE(13M SH)
500,000& * 2000H & 100,000
Odt=& ELAY & |22l 100,000
Odt+=S MES AG (1301 SH) 170,000
OntsSot== SEAH 2w
450,000 » 520 & 23,400
Ost=g 23ot=HMelAd Jl=dH 55,516
Ogd B3ot=HMelAlg Jsdd
49,116,000 =14 49,116
Os= B3ot=HelAlg Jsdd
9,600,000 » 14! 9,600
Ofkhx 330t==HMelAld Jl=at
30,982,000 » 14 30,982
St=Ald FHI 6,757,067 6,782,381 A25,314
=2 4,956,000
e 1,801,067
=2,2=2X+ 0tS8ot=& FHAY 3,781,893 1,985,000 1,796,893
2 2,738,000
e 1,043,893
401 Al HIZ 201 8] 3,781,893 1,985,000 1,796,893
2 2,738,000
s 1,043,893
01 A& HI 3,594,893 1,982,000 1,612,893
O=g - 22X SHE0SH+E SHIAY 3,594,893
2 2,590,000
s 1,004,893
02 Zeltl 185,000 0 185,000
O=g - 28X+ sHELSo=E FHAY 185,000
=2 148,000
e 37,000
03 A& =TI 2,000 3,000 A 1,000
O=g - 228X+ sHEOSo=E U A 2,000
Ed OtSdl=% ZHAE 2,035,900 781,610 1,254,290
= 1,474,000
s 561,900




M dotxZ ALY
B slas 22
& St=AlE FHI (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
401 Al& Bl & 28I 2,035,900 781,610 1,254,290
= 1,474,000
s 561,900
01 A& HI 2,001,900 708,610 1,293,290
OENEX T OtSdt=S FUIAY 2,001,900
= 1,448,400
s 553,500
02 Zeltl 32,000 70,000 A 38,000
O&&XF Otsot=S FUlAY 32,000
= 25,600
s 6,400
03 AIE 2 0HHI 2,000 3,000 A 1,000
OZ&XF OISdt=% HHAY 2,000
=g XN+ 0SS Fbl 587,674 427,571 160, 103
= 459,000
i 128,674
401 Al BIZ 201 8] 587,674 427,571 160, 103
= 459,000
e 128,674
01 A& HI 525,674 424,571 101,103
O=2gX+ 0tsot=S FUlAY 525,674
= 411,000
[ia 114,674
02 Zteltl 60,000 0 60,000
O=gX+ Ot2dt=% HHAY 60,000
= 48,000
[ia 12,000
03 A& =2 THHI 2,000 3,000 21,000
O=2gX+ Otsot=E FUlAY 2,000
St SESRY 0ISot=T (22 H) EUAIY 178,900 250,000 271,100
= 145,000
s 33,900
401 Al& Bl 28I 178,900 250,000 271,100
2 145,000
s 33,900
01 A& HI 126,900 250,000 A 123,100
Ol SE252Y9 0tSota=% FUIALS (22H) 126,900
= 105,000
[ 21,900
02 Zeltl 50,000 0 50,000
Oslz S=25R2Y% 0t2dtx=S Z ALY (28H) 50,000
= 40,000
s 10,000
03 Al 20 HI 2,000 0 2,000
Ol SE252Y9 0tSota=% FUIALY (22HH) 2,000

_3_




SN dot=Z A A
g otk 2
Sl staAlE Fbl (B9 ®R)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
ot= SO E OtSoteT HEAE 172,700 390,000 A217,300
2 140,000
= 32,700
401 AIEHIZ 2 0HHI 172,700 390,000 A217,300
= 140,000
T 32,700
01 A€ dl 120,700 367,000 A 246,300
O%t= sOHEONtSot+== HEA 120,700
= 100,000
[Ea 20,700
02 Zeldl 50,000 20,000 30,000
Ozt sOHENSdt+E HEAY 50,000
= 40,000
= 10,000
03 AlE 2 THHI 2,000 3,000 A 1,000
Os%t= sOHE0tSot+=T HEA 2,000
HWRes(dots=Z Arg &) 12,657,513 15,128,525 A2,471,012
WEAHH X = 12,657,513 14,821,525 A2,164,012
N4E BIIYNY HEZ 5,211,892 7,442,538 ~2,230,646
701 JIEtIHSHES 5,211,892 7,442,538 A2,230,646
02 BIESENILYHES 1,780,892 1,952,267 A171,375
OgsA2HFHI(2Hl &) 1,780,892
03 BIIHESEIHAN=NES 3,431,000 5,490,271 A2,089,271
Oa==E 2NEXAY ZHRES 3,431,000
ol== BJIEXNH dES 7,445,621 7,378,987 66,634
701 Bt HSHES 7,445,621 7,378,987 66,634
02 SIBSENILYTES 324,996 320,294 4,702
Ogd2HZHI (2l &) 324,996
03 BJIESEIAHAN=NES 7,120,625 7,058,693 61,932
Oot=E=10E2 XA ZHIRE=S 6,411,165
O33ot=XMalAlE E-AE S Lets A2
= 709,460




